
	
	[Type text]
	

	
	
	



	
	[bookmark: _GoBack]M1009
	

	
	
	




[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]



image3.png
10.

1l

12.

13.

00000 00000
Q0000

00000
00000

Set B
Set B has more marbles.
(1) 20 2 14
(3) 10 4) 4
95 — D = 80
(1 5 (2) 10
(8) 15 (4) 25
(1 8 (2 12
(3) 16 4) 20
What is the missing number?
(1) 46 (2) 63
(3) 83 (4) 56
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14.

The missing shape to complete the square is
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15. Write in words.

o[w

16. What time does the clock show?

Itis
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17. How much money is there?

18. a) 5 morethan90is

b) 8lessthan 70 is

QD

3 Cupcakes

a) The is/are the heaviest.

b) The is/are lighter than the cake.
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21. Name the shape that you get when you draw around this

object.

A

+5 Q—w

23. Rearrange these numbers starting with the largest.

ORORDRO,

24.8+4=3><|::|

25. Write a division sentence.

DRONORO
el el | =4 o
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26.

Number of pencils sold

XXX X
XX XXX

Sam

X
X X X
K A X X
X X X X X
X X X X X X
X X X X X X
X X X X X X X
Pam Dan Rene

Each X represents 1 pencil

a)

b)

Sam sold

pencils.

sold the least number of pencils.
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27. If 1 piece of ribbon is 2 m long, what is the total length of
4 pieces of ribbons?
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28. Grandma bakes 24 cookies. Her 12 grandchildren share
these equally. How many does each get?
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29. Mrs Tan buys 5 bars of chocolate for $4 and a bag of sugar
for $2. Then she buys 4 pens for $8. How much does she

spend altogether?
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30. Sarah and her sister together weigh 95 kg. If Sarah
weighs 45 kg, how heavy is her sister?
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Choose the correct answer and write its number in the
brackets.

1. What is the missing number?

95 62 94 63 93 64 ?

2. Who is in the 6th position?

alek-X.

Shawn  Sam  Collin Terry Nigel lan Pete
2nd
(1)  Shawn (2) Pete
(8) lan (4) Nigel (
3. X 3 =18 - 12
(1) 6 2 2
@) 3 4) 9 (
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4 Sal’'s marble

. e 4

/12 59 | T | | |

EXMAo =23 4 5 & 7 5 o o

EH e QViv's marble

Viv’s marbles moved units further than Sal’s.

(1) 3 (2) 4

(3) 5 4) 9 ()
5. Which is the biggest number?

(1) 79 (2) 97

(3) 67 (4) 59 ( )
6. When 20 peanuts are shared among 5 monkeys, each

gets

(1) 10 (2) 8

@ 5 4) 4 ( )

7. The number 99 comes before

(1) 98 (2) 97
(8) 89 (4) 100 « )

8. How many 5¢ coins make $1?

(1) 10 (2) 15

(3) 20 (4) 50 ( )
9. 3tens + 4tens = [: ones

(1) 6tens (2) 80

(3) 9tens (4) 70 ¢ )





‘Ghoosethecarectanswer and it s number inthe
bracuats.

1. Whatls o missng numbor?
95 62 01 63 93 64

o % @ o
© o “ o (

2 Vinoisintno 6 poson?

OBBDDODS

Shawn Sum Con Tory Ngel lan  Pois

) Shawn @ Poo
© @ Ngw «
8 [ xsem-n

e @ 2
w3 @ s «



